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Example: Your investment has been decreasing at a steady rate of 3.2% per year.
If you originally invested $3000, usmmu@etermine the
number of years algebraically that it will take for your investment to reach $1000.
Round your answer to the nearesT tenth of a year.
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Example: In 2005, the deer population in Central New York was estimated to be
102, 541. After a study done in 2015, it was estimated that the deer population
grew to 241, 730. Determine the rate of growth using the equation N = Noe'.
Round to the nearest ten-thousandths place. -
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Regents Review #4 - Polynomials

Factoring Methods
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Zero of a Polynomial: The zero of a polynomial P(x) is the value of x for P(x) = O.
Ex: Find the zero(s) of each e A =C +
a) f(x) = x?+4x b) - (N
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F MK | y=x P I C
2% B -
5:?"'35 Find the zeros of the polynomial, state the
3 multiplicity of each. Sketch (including the
end behavior)
P(x) = x(x + 32(x - 1)’ Sketch:
Degree: | ¥+ :L\' < K/\ \ -
eN 1 g
-y -2 M

End Behavior: | ¢ + w

Use long division to find the quotient (Q(x)) and remainder (R(x)). Verify your
remainder with the remainder theorem.

(2x3 +B5x% +3x-4)+ (x+ 2)

Is (x + 2) a factor of 2x3 + 5x? + 3x - 42 Explain your answer.
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